
Unit #1 Review – Linear Systems 
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Test Review Questions 
` Pg. 62 – 63 Practice Questions 

` #1-3,5,7 – 9, 12 - 16 
` Pg. 64 Chapter Self-Test 

` # 2 - 4, 7 - 9 
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Solve each system graphically 
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More Word Problems pg. 39 #8 

.

Let × represent 1 of the angles

Let Y represent the 2nd angle .
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• X ty=77°

0+20 Tai 44°ty=77°
2×=qq

' y -77=440

× = I y=33°
X=424°
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. 3rd angles 1800-(35+440)
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More word problems pg. 27 #6 
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18 (80-6)+106=1000
1440 - l8btwb
1440 -85=1000

14/40-1/440.86=1000-1440
- 8b = -440
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p= 80-5

p= 80-55

p=§
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25kg of pineapple
mix .


